KSTS/RR-84/003 28 Nov. 1984

On integral transformations associated with a certain lagrangian

by

Atsushi Inoue* and Yoshiaki Maeda*

*Department of Mathematics
Tokyo Institute of Technology

Oh-okayama, Meguro-ku Tokyo, 152 Japan

*Department of Mathematics
*Faculty of Science and Technology
Keio University

Hiyoshi 3-14-1, Kohoku-ku Yokohama, 223 Japan

Dept. of Math. Fac. of Sci. & Tech., Keio Univ. Hiyoshi 3-14-1, Kohoku-ku, Yokohama, 223 Japan

On integral transformations associated with a certain

Lagrangian

-- as a prototype of quantization

Dedicated to the memory of the late Professor H. Kumano-go

Atsushi INOUE

Department of Mathematics

Tokyo Institute of Technology

Oh-okayama, Meguro-ku, Tokyo, 152, Japan

Yoshiaki MAEDA

Department of Mathematics

Faculty of Science and Technology, Keio University

Hiyoshi, Yokohama, 223, Japan

Introduction

Let M be a finite dimensional manifold and let $L(\gamma,\dot{\gamma})$ be a function on the tangent bundle TM. Our aim is to construct a C^0 - semi group of bounded linear operators $H^{\lambda}_t(L)$ and its infinitesimal generator $A^{\lambda}(L)$ on the intrinsic Hilbert space H(M) (see §5 for its definition,) where $t \in \mathbb{R}_+$ and λ is a positive parameter.

As above problem is too vague to consider, so we restrict ourselves to the

following case which seems rather typical.

- (M) M is a smooth, simply-connected and connected d-dimensional manifold.
- (L.I) $L(\gamma,\dot{\gamma})$ is represented by
- (1) $L(\gamma,\dot{\gamma}) = L^0(\gamma,\dot{\gamma}) V(\gamma)$. $L^0(\gamma,\dot{\gamma}) = (1/2)g_{ij}(\gamma)\dot{\gamma}^i\dot{\gamma}^j$ for $(\gamma,\dot{\gamma}) \in TM$. (Hereafter, we use Einstein's convention to contract indices.) Moreover,
 - (L.II) $ds^2 = g_{ij}(x)dx^idx^j$ defines a complete Riemannian metric on M.

(In the following, for such $g_{ij}(x)$, we associate quantities in Riemannian geometry as are used usually.)

- (L.III) There exists a constant $k \ge 0$ such that for any 2-plane π , the sectional curvature K_{π} satisfies $-k^2 \le K_{\pi} \le 0$.
- (L.IV) Denote by $R_{ijk}^{h}(x)$ the component of curvature tensor $R(\cdot,\cdot)$. Then, there exists a constant C_0 such that

$$|\nabla^{\alpha} R_{ijk}^{h}(x)| \leq C_0$$
 for $0 \leq |\alpha| \leq 3$,

where $\alpha=(\alpha_1,\cdots,\alpha_d)$ is a multi-index, $\nabla^\alpha=\nabla_1^{\alpha_1}\cdots\nabla_d^{\alpha_d}$ and ∇_j represents the covariant derivation in the direction of x^j for any local chart at $x=(x^1,\ldots,x^d)$.

(L.V) $V \in C_0^{\infty}(M)$ are real valued.

For any natural measure μ on M which is defined without mentioning Riemannian metric (see §5 for its definition), we consider the following transformation in $L^2(M,d\mu)$ with parameters t>0 and $\lambda>0$. For any $f\in C_0^\infty(M)$ and sufficiently small t>0, we put

(2)
$$(H_t^{\lambda}(L;\mu)f)(x)$$

$$= (2\pi\lambda)^{-d/2} \int_{y} \rho(L;\mu)(t,x,y) \exp\{-\lambda^{-1}S(L)(t,x,y)\} \cdot f(y) d\mu(y).$$

and

Here we denote

- (3) $S(L)(t,x,y) = \inf\{\int_0^t L(\gamma(\tau),\dot{\gamma}(\tau))d\tau : \gamma(\tau) \in \Omega_{t,x,y}\}, \dot{\gamma}(\tau) = d\gamma(\tau)/d\tau.$
- (4) $\Omega_{t,x,y} = \{\gamma(\cdot) \in C([0,t] \to M) : absolutely continuous in \tau$ with $\gamma(0)=y$, $\gamma(t)=x$, and $\int_0^t \langle \dot{\gamma}(\tau), \dot{\gamma}(\tau) \rangle_{\gamma(\tau)} d\tau < +\infty \}$
- (5) $\rho(L;\mu)(t,x,y) = [\det(-\partial_{x^i}\partial_{y^a} S(L)(t,x,y))/\mu(x)\mu(y)]^{1/2}$ where $\mu(x)$ is the density of μ at x, i.e. $d\mu(x) = \mu(x)dx^1\Lambda \cdots \Lambda dx^d$, ∂_{x^i} denotes the partial derivation in the direction of x^i at $x = (x^1,...,x^d)$, and $\langle X,Y \rangle_x$ is the Riemannian scalar product at x for $X,Y \in T_xM$.

Our theorem is:

Theorem. Let M and L be given satisfying Assumptions (M) and (L.I)-(L.V). Then, there exists a positive number T>0 such that the followings hold:

- (a) For any natural measure μ , the operator $H_t^{\Lambda}(L;\mu)$ defines a bounded linear operator in $L^2(M,d\mu)$ for 0 < t < T.
- (b) $\lim_{t\to 0} ||H_t^{\lambda}(L;\mu)f f|| = 0$ for all $f \in L^2(M,d\mu)$.
- (c) There exist positive constants C and C depending on T independent of μ such that
- (6) $||H_{t+s}^{\lambda}(L;\mu)f H_{t}^{\lambda}(L;\mu)H_{s}^{\lambda}(L;\mu)f|| \le [C\{(t+s)^{3/2} t^{3/2} + s^{3/2}\} + C'(t+s)s]||f||$ for 0 < t+s < T. Moreover, we take C' = 0 for V = 0.

Furthermore, we have:

- (d) There exists a limit $H_t^{\lambda}(L;\mu) = \lim_{n \to \infty} [H_{t/n}^{\lambda}(L;\mu)]^n$ in the operator norm in $L^2(M,d\mu)$ for any t>0. Moreover, $\{H_t^{\lambda}(L;\mu)\}_{t\geq 0}$ with $H_0^{\lambda}(L;\mu) = the$ identity operator, forms a C^0 semi-group in $L^2(M,d\mu)$.
- (e) For any two natural measures μ and ν on M, we have
- (7) $\mathbf{H}_{t}^{\lambda}(L;\mu) = U_{\nu\mu}^{-1} \mathbf{H}_{t}^{\lambda}(L;\nu) U_{\nu\mu}$

where $U_{\nu\mu}$ is an isomorphism from $L^2(M,d\mu)$ onto $L^2(M,d\nu)$, defined by

- (B) $(U_{\nu\mu}f)(x) = f(x)(\mu(x)/\nu(x))^{1/2}$ for $f \in L^2(M,d\mu)$. (f) The infinitesimal generator $\mathbf{A}^{\lambda}(L;\mu)$ of $H^{\lambda}_{\lambda}(L;\mu)$ is given by
- (9) $\partial_t (H_t^{\lambda}(L;\mu)f)|_{t=0} = A^{\lambda}(L;\mu)f = U_{\mu_g\mu}^{-1} A^{\lambda}(L;\mu_g) U_{\mu_g\mu}f$ for $f \in C_0^{\infty}(M)$, $(A^{\lambda}(L;\mu_g)f)(x) = \lambda^2(\Delta_g/2 - R(x)/12)f(x) + V(x)f(x)$.

Here Δ_g is the negative Laplace-Beltrami operator and $R(\cdot)$ stands for the scalar curvature.

In other word, the above procedure defines a C^0 semi-group $H_t^{\lambda}(L)$ and its infinitesimal generator $A^{\lambda}(L)$ on the intrinsic Hilbert space H(M) such that if H(M) is trivialized by a natural measure μ as $L^2(M,d\mu)$, then $H_t^{\lambda}(L)$ and $A^{\lambda}(L)$ are represented by $H_t^{\lambda}(L;\mu)$ and $A^{\lambda}(L;\mu)$ on $L^2(M,d\mu)$.

The old and debated question whether the Schrödinger equation in the curved space contains the term with $\hbar^2 R(\cdot)$ will be solved completely if we could proceed as same as above for $\lambda = \hbar$.

In §1, we enumerate the basic properties for the quantities derived from the classical mechanics defined through L. As our configuration space is curved, we cannot apply directly the iteration scheme used in Fujiwara [8] to our case. Instead of it, we use the Morse theory to obtain the estimates of the classical quantities. In §§2-4, for the special choice of $\mu=\mu_q$, we give the proof of (a)-(d) of Theorem. As one of the corollaries, we give the covariant property of the operators $H_i^{\lambda}(L;\mu_q)$ and $A^{\lambda}(L;\mu_q)$ under a diffeomorphism of M. In §5, we give the definition of the half-density and the intrinsic Hilbert space on M, which combined with the result in §4, gives readily the proof of Theorem. Here, the meaning of the appearance of the term $R(\cdot)/12$ is clarified. In spite of this fact, in §6, we claim that for any number $\beta \in \mathbb{R}$, we may produce the term $\lambda^2(1/6-\beta/12)R(\cdot)$ if we change our procedure a little bit. But in this case, we must use the fact that Δ_q is essentially self-adjoint on $C_0^{\infty}(M)$ not proving it as in §4. Moreover,

there exist no covariance properties unless $\beta=1$.

Some parts of Theorem were already announced in Inoue-Maeda [11].

Contents

- Some properties of the classical action. preliminaries from differential geometry
- 2. Some basic properties of $H_t^{\lambda}(L; \mu_g)$.
- 3. The convergence of the product $\mathrm{H}_{\mathrm{f}}^{\lambda}(L;\mu_g)$ in the operator norm.
- 4. The computation of the infinitesimal generator of $\mathrm{H}^{\lambda}_{\mathbf{f}}(L;\mu_{\mathbf{g}}).$
- 5. Proof of Theorem and its interpretation.
- 6. We may produce any multiple of $R(\cdot)$ in the infinitesimal generator.

Some properties of the classical action - preliminaries from differential geometry

For any $x,y\in M$, the set $\Omega_{t,x,y}$ introduce in (4), denoted simply by Ω in this section, forms a Hilbert manifold. (See p.247 of Abraham-Marsden [1].) The tangent space $T_{\gamma}\Omega$ at $\gamma\in\Omega$ may be identified with the space of vector fields Z on M along γ with Z(0)=Z(t)=0 whose coefficients belongs to Ω . Moreover, a scalar product on $T_{\gamma}\Omega$ is defined by

(1.1)
$$\langle Z_1, Z_2 \rangle_{\gamma} = \int_0^t \langle Z_1(\tau), Z_2(\tau) \rangle_{\gamma(\tau)} d\tau$$
 (For the notational simplicity, we drop the indices γ and $\gamma(\tau)$ above if there occurs no confusion.)

Now, we introduce two functional $S(\gamma)$ and $S^0(\gamma)$ on Ω by

(1.2)
$$S(\gamma) = \int_0^t L(\gamma(\tau),\dot{\gamma}(\tau))d\tau$$
 for $\gamma \in \Omega$ and

(1.3)
$$S^0(\gamma) = \int_0^t L^0(\gamma(\tau),\dot{\gamma}(\tau))d\tau \text{ for } \gamma \in \Omega.$$

Lemma 1.1. Under Assumptions (L.I) (L.II) and (L.V), we have :

- (i) $S(\gamma)$ is bounded from below.
- (ii) $S(\cdot)$ is a smooth functional on $\Omega,$ i.e. for any curve $\gamma(t\,;\epsilon)$ on M satisfying

$$\gamma(\cdot;0)=\gamma(\cdot)\in\Omega, \quad (d/d\varepsilon)\gamma(\cdot;\varepsilon)_{|\varepsilon=0}=Z\in T_{\Omega}, \text{ there exists}$$

$$(d/d\varepsilon)S(\gamma(\cdot;\varepsilon))_{|\varepsilon=0}=dS(\gamma)\cdot Z.$$

- (iii) $\gamma \in \Omega$ is a critical point of S, i.e. $dS(\gamma)=0$, iff (a) γ belongs to $C^2([0,t]\to M)$ and (b) γ satisfies the following equation
- (1.4) $\ddot{\gamma}^i(\tau) + \Gamma_{jk}{}^i(\gamma(\tau))\dot{\gamma}^j(\tau)\dot{\gamma}^k(\tau) = -(\nabla V(\gamma(\tau)))^i,$ where $\Gamma_{jk}{}^i$ stands for the Christoffel symbol and $(\nabla V(x))^i = g^{ij}(x)\nabla_j V(x).$
 - (iv) $\gamma \in \Omega$ is a non-degenerate minimum of $S(\cdot)$ iff there is no trivial $J \in T_{\gamma}\Omega$ satisfying the following V-Jacobi equation,

$$(1.5)_{VJ} \quad J''(\tau) + R(J(\tau),\dot{\gamma}(\tau))\dot{\gamma}(\tau) = -\nabla^2 V(\gamma(\tau))\cdot J(\tau),$$
 where $J'(\tau) = (\delta/\delta\tau)J(\tau) =$ the covariant derivative of J along $\gamma(\tau)$ and $\nabla^2 V(x)$ stands for the matrix whose (i,j) element is given by $\nabla^j \nabla_i V(x)$.

Proof. See, Milnor [13] and modify it slightly, if necessary.

Following fact is well-known that under Assumption (L.II)

- (1.6) $S^0(t,x,y) = d^2(x,y)/2t$ for $x,y \in M$, where d(x,y) is the Riemannian distance between x and y. We consider the initial value problem for (1.4) with initial conditions
- (1.7) $\gamma(0)=y$ and $\dot{\gamma}(0)=Y\in T_yM$. As is well-known, for any $y\in T_yM$, there is an interval I_Y where the solution $\gamma(t)$ of (1.4) with (1.7) exists. Moreover we have:

Lemma 1.2. Assume (L.I), (L.II) and (L.V). There exists a constant $C_1>0$ such that

(1.8)
$$|Y| - C_1 t \le |\dot{\gamma}(t)| \le |Y| + C_1 t$$
 for $t \in I_Y$ and

$$(1.9) t^2[|Y|^2 - C_1|Y|t + (C_1^2/3)t^2 - 4C_1)]$$

$$\leq d(y,\gamma(t))^2$$

$$\leq t^2[|Y|^2 + C_1|Y|t + (C_1^2/3)t^2 + 4C_1]$$
 for $t \in I_Y$.

Here, $|Y|^2 = \langle Y, Y \rangle_y$ for $Y \in T_y M$.

Proof.

$$(1/2)(d/dt)|\dot{\gamma}(t)|^2 = \langle (\delta/\delta t)\dot{\gamma}(t),\dot{\gamma}(t)\rangle$$

= $-\langle \nabla V(\gamma(t)),\dot{\gamma}(t)\rangle$
 $\leq C_1|\dot{\gamma}(t)|.$

This leads us the second inequality of (1.8). And we have, by definition of S(t,x,y) and $S^0(t,x,y)$,

$$(1.10) S^{0}(t,x,y) - C_{1}t \leq S(t,x,y) \leq S^{0}(t,x,y) + C_{1}t.$$

Combining this with (1.6), we have

$$d^{2}(y,\gamma(t)) = 2tS^{0}(t,y,\gamma(t))$$

$$\leq 2t\{\int_{0}^{t}(1/2)|\dot{\gamma}(\tau)|^{2}d\tau - \int_{0}^{t}V(\gamma(\tau))d\tau + C_{1}t\}.$$

So, we have the second inequality of (1.9) readily. The other parts are proved analogously. q.e.d.

Corollary 1.3. Same assumptions as above. The solution $\gamma(t) = \gamma(t; y, Y)$ of (1.4) with (1.7) exists for any t, that is, $I_Y = [0, \infty)$. Moreover, $\gamma(t; y, Y)$ depends smoothly on $(t, y, Y) \in [0, \infty) \times TM$.

We denote $\gamma(t;y,Y)$ by $\Phi_{t,y}(Y)$. By calculating primitively, we have:

Lemma 1.4. Assume (L.I),(L.II) and (L.V). Let $(d\Phi_{t,y})_Y:T_Y(T_yM) \rightarrow T_{\Phi_{t,y}(Y)}M$ be the differential of $\Phi_{t,y}$ at $Y \in T_yM$. Then, for any $W \in T_Y(T_yM)$, $J(t) = (d\Phi_{t,y})_YW$ satisfies the V-Jacobi equation (1.5) with initial conditions (1.11) J(0) = 0 and J'(0) = W.

Lemma 1.5. Under Assumptions (L.I)-(L.III) and (L.V), there exists a constant $T_1>0$ such that for any $W\neq 0$, the solution J(t) of (1.5) with (1.11) satisfies $J(t)\neq 0$ for $0 < t < T_1$.

Proof.

$$(1/2)(d^{2}/dt^{2})|J(t)|^{2} = (d/dt)\langle J(t), J'(t)\rangle$$

$$= \langle J'(t), J'(t)\rangle + \langle J(t), J''(t)\rangle$$

$$\geq |J'(t)|^{2} - C_{1}|J(t)|^{2}$$

by (L.III) and (L.V). Using $(d/dt)|J(t)|^2=\int_0^t (d^2/d\tau^2)|J(\tau)|^2d\tau$ and $J(t)=\int_0^t J'(\tau)d\tau$, we have readily

$$(1/2)(d/dt)|J(t)|^2 \ge (1-(C_1t^2)/2)\int_0^t |J'(\tau)|^2 d\tau.$$

Taking T_1 smaller than $\sqrt{2/C_1}$, we have the desired result. q.e.d.

Corollary 1.6. Under the same assumptions in Lemma 1.5, we have $(d\Phi_{t,y})_{Y}\neq 0$ for $0 < t < T_1$ and $Y \in T_yM$ where T_1 is taken as above.

Proposition 1.7. Assume (M), (L.I)-(L.III) and (L.V). Then, there exists a positive number T_1 such that $\Phi_{t,y}$ gives a diffeomorphism from T_yM onto M for $0 < t < T_1$ and $y \in M$.

Proof. As the functional $S(\cdot):\Omega\to\mathbb{R}$ has the non-degenerate Hessian at critical point for 0 < t < T by Corollary 1.6 and (iv) of Lemma 1.1, Ω is homotopically equivalent to a CW-complex with 0-dimensional vertex. On the other hand, as M is assumed to be simply connected, Ω consists of one point. That is, there exists one and only one critical point for $S(\cdot)$ in Ω . This means that $\Phi_{t,y}$ is one to one and onto from T_yM to M and $\Phi_{t,y}$ is differentiable by Corollary 1.3. So we have the desired result. q.e.d.

Take orthonormal bases $\{W_j\}$ and $\{e_j\}$ on $T_Y(T_yM)$ and T_xM respectively. Then, the differential mapping $(d\Phi_{t,y})_Y$ may be expressed by

$$(1.12) \quad (d \, \Phi_{t,u})_Y W_j = F_j^i e_i.$$

We denote $\det(F_j^i)$ by $\det_g(d\Phi_{t,y})_{Y}$, which is independent of the choice of orthonormal bases.

Defining

(1.13)
$$\Theta(t,x,y) = t^{-d} |\det_g(d\Phi_{t,y})_Y|,$$

we want to give the upper and lower estimates of it. Before that, we prepare the following lemma which is a modification of Rauch's comparison lemma (§7 of Chap. I of Aubin [2], §10 of Chap. I of Cheeger-Ebin [4]).

Lemma 1.8. Let $A(\tau)$ be a smooth real vector field on \mathbb{R}^d satisfying

(1.14)
$$\ddot{A}(\tau) + K(\tau)A(\tau) = 0$$
, with $A(0)=0$.

Here $K(\tau)$ is a real d×d matrix of $0 \le \tau \le t$.

(i) If $-K(\tau)$ is bounded from below, i.e. $-K(\tau) \ge -\kappa_1^2 I$ $(\kappa_1 \ge 0)$.

then

 $(1.15) \quad \langle \dot{A}(t), A(t) \rangle_0 \ge \kappa_1 \cot \kappa_1 t \cdot \langle A(t), A(t) \rangle_0 \quad \text{for } t < \pi / \kappa_1.$

- (ii) If $-K(\tau)$ is symmetric and bounded from above, i.e. $-K(\tau) \le k_2^2 I$ $(\kappa_2 \ge 0)$, then
- $(1.16) \quad \langle A(t),A(t)\rangle_0 \leq \kappa_2 \; \mathrm{coth} \kappa_2 t \cdot \langle A(t),A(t)\rangle_0 \; ,$ for sufficiently small t, where \langle , \rangle_0 is the Euclidian scalar product.

Proof. (i) We compare the equation (1.4) with

(1.17)
$$\ddot{B}(\tau) + \kappa_1^2 B(\tau) = 0$$
 with $B(0)=0$.

Let $\{B_j(\tau)\}$ be a solution of (1.17) with $B_j(0)=0$, $\dot{B}_j(0)=\mathbf{e}_j$, $\{\mathbf{e}_j\}$ stands for the canonical bases of \mathbf{R}^d . As $\{B_j(\tau)\}$ is linearly independent vectors in \mathbf{R}^d for $t<\pi/\kappa_1$, we expand a solution $A(\tau)$ of (1.14) as $A(\tau)=\Sigma_{j=1}^d a_j(\tau)B_j(\tau)$. Using $\langle B_j(\tau), \dot{B}_j(\tau) \rangle = \langle \dot{B}_j(\tau), B_j(\tau) \rangle$ and integration by parts, we get readily

$$<\mathring{A}(t), A(t)>_{0} = \int_{0}^{t} \{<\mathring{A}(\tau), \mathring{A}(\tau)>_{0} - \} d\tau$$

$$+ <\Sigma_{i=1}^{d} a_{i}(t) \mathring{B}_{i}(t), \Sigma_{j=1}^{d} a_{j}(t) B_{j}(t)>$$

$$+ \, \int_0^t <\!\! \Sigma_{i=1}^d a_i(\tau) \dot{B}_i(\tau), \! \Sigma_{j=1}^d a_j(\tau) \dot{B}_j(t) \!>\! d\tau \, .$$

On the other hand, as any solution of (1.17) with B(0)-0 is represented by $B(\tau) = \sum_{j=1}^{d} \beta_{j} B_{j}(\tau)$ ($\beta_{j} \in \mathbb{R}$), we have readily, for $B(\tau)$ satisfying B(t)=A(t),

$$\langle \dot{A}(t), A(t) \rangle_0 \ge \langle \dot{B}(t), B(t) \rangle_0$$
.

Since, A(t)=B(t) implies $\beta_j=a_j(t)$. Defining $B(\tau)=(\sin\kappa_1\tau/\sin\kappa_1t)A(t)$ we have (1.15).

- (ii) Instead of (1.17), we use
- (1.18) $\ddot{C}(\tau) \kappa_z^2 C(\tau) = 0$ with C(0) = 0.

Let $\{A_j\langle\tau\rangle\}$ be solution of (1.14) with $A_j(0)=0$, $\dot{A}_j(0)=\mathbf{e}_j$. For sufficiently small t, $\{A_j(\tau)\}$ is linearly independent. Expanding a solution of (1.18) as $C(\tau) = \sum_{j=1}^d a_j(\tau) A_j(\tau)$, we have, by analogous calculation as in proving (i),

$$\langle \dot{C}(t), C(t) \rangle_0$$

$$= \langle \sum_{i=1}^{d} c_i(t) A_i(t), \sum_{j=1}^{d} c_j(t) A_j(t) \rangle_0$$

$$+ \int_{0}^{t} < \sum_{i=1}^{d} c_{i}(\tau) \dot{A}_{i}(\tau), \sum_{j=1}^{d} c_{j}(\tau) \dot{A}_{j}(\tau) >_{0} d\tau .$$

Here we use the symmetry of $K(\tau)$ to prove $\langle \dot{A}(\tau), A_j(\tau) \rangle_0 = \langle A_i(\tau), \dot{A}(\tau) \rangle_0$. As $A(\tau) = \sum_{i=1}^d c_j(t) A_j(\tau)$ is a solution of (1.14) with A(t) = C(t), we get

$$\langle \dot{C}(t), C(t) \rangle_0 \ge \langle \dot{A}(t), A(t) \rangle_0$$
.

Putting $C(\tau) = (\sinh \kappa_2 \tau / \sinh \kappa_2 t) A(t)$, we have (1.16). q.e.d.

Now, using this, we give first of all, the lower bound for $\Theta(t,x,y)$.

Proposition 1.10. Assume (M), (L.I)-(L.III) and (L.V). Then, there exists a constant $T_2>0$ such that

$$(1.19) \quad \Theta(t,x,y) \geq \left(\sin\sqrt{C_1}t/\sqrt{C_1}t\right)^d \text{ ,for } 0 < t < T_2 \text{ and } x,y \in M \ .$$

Proof. Introducing vector fields $\{P_j(\tau)\}$ parallel along $\gamma_c(\tau)$ and orthogonal w.r.t. <,>, we expand any V-Jacobi field $J(\tau)$ as $J(\tau) = \sum_{j=1}^d a^j(\tau) P_j(\tau)$ where $a^j(\tau) \in \mathbb{R}$. Then, $A(\tau) = (a^1(\tau), ..., a^d(\tau))$ defines a vector field in \mathbb{R}^d and satisfies

$$\ddot{A}(\tau) + K(\tau)A(\tau) = 0 .$$

Here (j,k)-element of $K(\tau)$ is given by

$$(1.20) \qquad \langle R(P_i(\tau),\dot{\gamma}_c(\tau))\dot{\gamma}_c(\tau), P_k(\tau) \rangle + \langle \nabla^2 V(\gamma_c(\tau)) \cdot P_i(\tau), P_{k}(\tau) \rangle.$$

By Assumptions (L.III) and (L.V), there exists $C_1>0$ such that

$$-K(\tau) \ge -C_1 I.$$

Using (i) of above lemma, for $t < T_2 = \min(T_1, \pi/\sqrt{C_1})$, we have

$$(1/2)(d/dt)\log|J(t)|^2 \ge \sqrt{C_1}\cot\sqrt{C_1}t.$$

ear - Cag

Here, we use the fact $|J(t)|^2 = \langle J(t), J(t) \rangle = \langle A(t), A(t) \rangle_0$. Remarking $\lim_{t \to 0} |J(t)|/t = 1$, we have $|J(t)|/t \geq_{\sin} \sqrt{C_1} t/\sqrt{C_1} t$. we get (1.19) by the definition of det. q.e.d.

Analogously, we have the upper bound of $\Theta(t,x,y)$ as

Proposition 1.11. Under Assumptions (M), (L.I)-(L.III) and (L.V), we have

$$(1.21) \quad \Theta(t,x,y) \le \left[\sinh(k \mid Y \mid + C_2) t / (k \mid Y \mid + C_2) t \right]^d, \text{ for } 0 < t < T_2$$

where $x = \Phi_{t,y}(Y)$, $C_2 = (k^2 C_1^2 T_1^2 + C_1)^{1/2}$ and T_2 is defined in Proposition 1.10.

Proof. As before, we consider (1.14) with (1.20). Then, Assumptions (L.III) and (L.Y), combined with the estimate (1.8) give us an upper bound for $K(\tau)$ as

$$<-K(\tau)A(\tau),A(\tau)>_0 \le (k|Y|+C_2)^2|A(\tau)|^2$$
 for $0<\tau< T_2$.

Using (ii) of Lemma 1.8, and proceeding as before, we have the desired estimate. q.e.d.

Now, we give elementary properties for S(t,x,y), called the classical action. By Proposition 1.7, there exists the unique critical point γ_c of $S(\cdot)$, called the classical path, which satisfies

(1.22)
$$S(t,x,y) = \int_0^t \{(1/2) < \dot{\gamma}_C(\tau), \dot{\gamma}_C(\tau) > -V(\gamma_C(\tau))\} d\tau.$$
 Following fact is rather well-known. (See p.390 of Berger et al [3].)

Lemma 1.12. Under Assumptions (M), (L.I)-(L.III) and (L.V), S(t,x,y) is a C^{∞} -function on $(0,T_2)\times M\times M$, symmetric in x and y, satisfying the Hamilton-Jacobi equation:

$$(1.23)_{HJ} \quad \partial_t S(t,x,y) + (1/2) < \nabla_x S(t,x,y), \nabla_x S(t,x,y) > + V(x) = 0,$$

and for any $Y \in T_{y}M$

$$(1.24) \quad (\nabla_y S(t,x,y))(Y) = -\langle \Phi_{t,y}^{-1}(x), Y \rangle.$$

By (1.24), we have, for $X \in T_x M$, $Y \in T_y M$

$$\nabla_x \nabla_y S(t,x,y)(X,Y) = -\langle (d\Phi_{t,y}^{-1})_x(X),Y \rangle,$$

which gives us the following formula:

$$(1.25) \quad \det_{\mathbf{g}}(d\Phi_{\mathbf{t},\mathbf{y}}^{-1})_{\mathbf{x}} = \det(\nabla_{\mathbf{y}}\nabla_{\mathbf{x}}S(t,\mathbf{x},\mathbf{y}))/\sqrt{g(\mathbf{x})}\sqrt{g(\mathbf{y})} \quad (\sqrt{g(\mathbf{x})}=\mu_{\mathbf{g}}(\mathbf{x})).$$

If we put $\rho(t,x,y)=|\det_g(d\Phi_{t,y}^{-1})_x|^{1/2}$, we have easily $\rho(t,x,y)=t^{-d/2}\theta^{-1/2}(t,x,y)$. Then, we have

Proposition 1.13. Assume (M), (L.I)-(L.III) and (L.V). The function $\rho(t,x,y)$

is smooth on $(0,T_2)\times M\times M$ and satisfies the following continuity equation:

 $(1.26)_C \quad \partial_t \rho(t,x,y) + (1/2)\rho(t,x,y)\Delta^{(x)}S(t,x,y) + \langle \nabla_x \rho(t,x,y), \nabla_x S(t,x,y) \rangle = 0 \ .$ Here, $\Delta^{(x)}$ stands for the Laplace-Beltrami operator acting on a function of x.

Proof. Define $\zeta(t,x,y) = \det_g (d\Phi_{t,y}^{-1})_x$. Then, using the identity $\Phi_{t+s,y}^{-1} = \Phi_{t,y}^{-1} \circ \Phi_{t,y} \circ \Phi_{t+s,y}^{-1}$, we get

$$(d\Phi_{t+s}^{-1})_x = (d\Phi_{t,y}^{-1})_z \cdot (d(\Phi_{t,y} \cdot \Phi_{t+s,y}^{-1}))_z, \quad z = \Phi_{t,y} \cdot \Phi_{t+s,y}^{-1}(x).$$

This means

$$(\partial/\partial s)\zeta(t+s,x,y) = \langle \nabla_z \zeta(t,x,z), \partial_s z \rangle \cdot \det_g (d(\Phi_{t,y} \circ \Phi_{t+s,y}^{-1}))_x$$

$$+ \zeta(t,x,y)(\partial/\partial s) \text{exp trace log } (d(\Phi_{t,y} \circ \Phi_{t+s}^{-1}))_x.$$

$$\text{As } \langle \nabla_z \zeta(t,x,y), \partial_s z \rangle_{|s=0} = -\langle \nabla_x \zeta, \nabla_x S(t,x,y) \rangle \text{ and}$$

$$\partial_s \text{exp trace log } (d(\Phi_{t,y} \circ \Phi_{t+s,y}^{-1}))_x = -\text{trace}[\nabla_x^2 S(t,x,y)]$$

$$= -\Delta^{(x)} S(t,x,y).$$

we have

$$\partial_t \zeta(t,x,y) + \langle \nabla_x \zeta(t,x,y), \nabla_x S(t,x,y) \rangle_x + \zeta(t,x,y) \Delta^{(x)} S(t,x,y) = 0.$$
 As $\rho(t,x,y) = \zeta(t,x,y)^{1/2}$, we have $(1.26)_C$. q.e.d.

Remark. As is mentioned before, S(t,x,y) and $\rho(t,x,y)$ are symmetric in x and y. In the following, we use $(1.23)_{HJ}$, and $(1.26)_c$ with changing the role of x and y if necessary.

Following estimates are easily obtained by differentiating $(1.5)_{VJ}$ and using the variation of constant for ordinary differential equations (See, Appendix in Maeda [12]).

Lemma 1.14. Let take T>0 smaller than T_2 and satisfying $\Theta(t,x,y)\geq 1/2$ for any $x,y\in M$ and 0< t< T. Then, under Assumptions (M) and $(L.I)\cdot (L.V)$, there exists a positive constant C_3 independent of $x,y\in M$ and 0< t< T such that for $0\leq |\alpha|\leq 3$ and $x=\Phi_{t,y}(Y)$,

$$(1.27) |\nabla_{y}^{\alpha}\Theta(t,x,y)| \leq C_{3}\exp(k|Y|+C_{2})t,$$

$$(1.28) |\nabla_x^a \rho(t,x,y)| \leq C_3 t^{-d/2} \exp(k|Y| + C_2)t.$$

2. Some basic properties of $H_t^{\lambda}(L;\mu_g)$

In this and in §§ 3 and 4, we denote $H_t^{\lambda}(L,\mu_g)$ simply by H_t^{λ} and L^2 -norm of $L^2(M,d\mu_g)$ by $\|\cdot\|$. Hereafter, we fix T>0 as defined in Lemma 1.14.

Proposition 2.1. Assume (M), (L.I)-(L.III) and (L.IV). Then, the operator H_t^{λ} are stable in $L^2(M,d\,\mu_g)$. That is, there exists a positive constant $C_4=C_4(\lambda,T)$ such that

 $(2.1) ||H_t^{\lambda} f|| \le \exp C_4 t \cdot ||f|| for 0 < t < T and f \in C_0^{\infty}(M).$

Proof. H_i^{λ} is an integral operator with kernel

(2.2) $h^{\lambda}(t,x,y) = (2\pi\lambda)^{-d/2}\rho(t,x,y)\exp\{-\lambda^{-1}S(t,x,y)\}$. We claim that there exist constants $C_1'=C_1'(\lambda;T)$ and $C_4'=C_4'(\lambda;T)$ such that

(2.3)
$$\int_{\mathcal{U}} h^{\lambda}(t, x, y) d\mu_{g}(y) \leq (1 + C_{4}'t) \cdot \exp C_{1}'t/\lambda ,$$

(2.3)'
$$\int_{\mathcal{U}} h^{\lambda}(t,x,y) d\mu_g(x) \leq (1 + C_4't) \cdot \exp C_1't/\lambda ,$$
 for all $0 < t < T$.

Putting $y=\Phi_{t,x}(X), X\in T_xM$, and remarking $\rho(t,x,y)=t^{-d/2}\Theta(t,x,y)^{-1/2}$, we have

$$= (2\pi\lambda)^{-d/2} t^{-d/2} \int_{T_x M} \exp \left\{ -\lambda^{-1} S(t,x,\Phi_{t,x}(X)) \right\} \cdot \Theta(t,x,\Phi_{t,x}(X))^{1/2} dX$$

Inserting the relation above and (1.21) and using polar coordinate, we have

$$\int_{M}h^{\lambda}(t,x,y)d\mu_{g}(y)$$

$$\leq (2\pi\lambda)^{-d/2} t^{d/2} vol(S^{d-l}) \int_0^\infty r^{d-l} [\sinh(kr+C_2)t/(kr+C_2)t]^{d/2}$$

$$\times \exp[(-r^2t + 6C_1t + C_1rt^2)/2\lambda] dr$$

Using

$$(-r^2+C_1rt^2+6C_1t)/2\lambda = -r^2t/4\lambda + ((-r^2t/2)+C_1rt^2+6C_1t)/2\lambda$$

$$\leq -r^2t/4\lambda + C_1t/\lambda$$
, for $0 < t < T$ and for $r \geq 0$,

where $C_1'=3C_1+(C_1^2T^2/4)$, we have

$$\int_{\mathcal{U}} h^{\lambda}(t,x,y) d\mu_{\mathcal{T}}(y) \le \exp(C_1't/\lambda) \cdot F_{\lambda}(t) .$$

Here, we set

 $F_{\lambda}(t)$

$$= (2\pi)^{-d/2} vol(S^{d-1}) \int_0^\infty \!\! u^{d-1} [\cosh \left(ku \langle \lambda t \rangle^{1/2} + C_2 t \right)]^{d/2} \! \exp \left(-u^2/4\right) \! du \ .$$

Using $\sinh r/r \le \cosh r$ for r > 0, we get

$$\begin{split} F_{\lambda}'(t) &= \frac{d}{dt} \, F_{\lambda}(t) \\ &\leq (d/4)(2\pi)^{-d/2} vol(S^{d-1}) \\ &\times \int_{0}^{\infty} u^{d-1} \cosh(ku(\lambda t)^{1/2} + C_{2}t)^{d/2} \\ &\times [k^{2}u^{2}\lambda + 3C_{2}ku(\lambda t)^{1/2} + 2C_{2}^{2}t] \exp(-u^{2}/4) du \end{split} ,$$

there exists a positive constant $C_4'=C_4'(\lambda;T)$ which bounds from above the right-hand side of the inequality above. Combining this with $F_{\lambda}(0)=1$, we get (2.3). Analogously, we get (2.3).

Remarking

$$|(H_t^{\lambda}f)(x)| \leq$$

$$\int_{\mathcal{U}} h^{\lambda}(t,x,y)^{1/2} h^{\lambda}(t,x,y)^{1/2} |f(y)| d\mu_{\boldsymbol{q}}(y) \ ,$$

and using Schwarz' inequality, we have

$$||H_t^{\lambda} f||^2 \le \exp(2C_1 t/\lambda) \cdot (1 + C_4 t)^2 ||f||^2$$
.

This implies (2.1) by putting $C_4 = C_4' + (C_1'T/\lambda)$. q.e.d.

By Proposition 2.1, we may extend H_t^{λ} acting on $L^2(M, d\mu_g)$. Now, we study the dependence of H_t^{λ} on t.

Proposition 2.2. Assume that (M),(L.I)-(L.III) and (L.V) hold. For $f \in L^2(M,d\mu_a)$, we have

(2.5)
$$\lim_{t \to +0} ||H_t^{\lambda} f - f|| = 0.$$

Therefore, putting H_0^{λ} = the identity operator, we have the mapping from $t \in [0,T]$ to $H_t^{\lambda} f \in L^2(M,d\mu_g)$, strongly continuous in t for each $f \in L^2(M,d\mu_g)$.

Proof. By Proposition 2.1, it is sufficient to prove (2.6) for each $f \in C_0^{\infty}(M)$. We take a smooth function $\chi(x), 0 \le \chi(x) \le 1$, as

$$\chi(x) = \begin{cases} 1 & \text{if } d(x, supp f) \leq 2\\ 0 & \text{if } d(x, supp f) > 3. \end{cases}$$

We shall show the following.

(2.6)
$$\lim_{t\to+0} ||H_1(t,\cdot) - f(\cdot)|| = 0 ,$$

$$(2.7) \quad \lim_{t\to +0} ||H_2(t,\cdot)|| = 0 ,$$

where $H_1(t,x) = \chi(x)(H_t^{\lambda}f)(x)$ and $H_2(t,x) = (1-\chi(x))(H_t^{\lambda}f)(x)$.

Proof of (2.6). Putting $y = \Phi_{t,x}(X) = \gamma(t,x,X)$, $X \in T_x(M)$, we get

(2.8)
$$f(y) = f(x) + f_1(x;t,X)$$
 and $\theta(t,x,y)^{1/2} = 1 + \theta_1(x,t,X)$,

where

$$\begin{split} &f_{1}(x,t,X) \\ &= \int_{0}^{t} (d/ds) f\left(\Phi_{s,x}(X)\right) ds = \int_{0}^{t} \langle \nabla_{y} f\left(\Phi_{s,x}(X)\right), \dot{\gamma}(s,x,X) \rangle ds \\ &\Theta_{1}(x;t,X) \\ &= \int_{0}^{s} (d/ds) \Theta(t,x,\Phi_{s,x}(X))^{1/2} ds \\ &= (1/2) \int_{0}^{t} \Theta(t,x,\Phi_{s,x}(X))^{-1/2} \langle \nabla_{y} \Theta(t,x,\Phi_{s,x}(X)), \dot{\gamma}(s,x,X)) \rangle ds \end{split} .$$

So, using polar coordinate $X=r\omega,r\in(0,\infty)$, $\omega\in S^{d-1}$, we have

(2.9)
$$H_1(t,x)$$

$$=\chi(x)(2\pi\lambda)^{-d/2}t^{d/2}\int_0^\infty\int_{S^{d-1}}(f(x)+H_1(x,t,r\omega))$$

$$\times \exp \{(-\lambda^{-1}S(t,x,\Phi_{t,x}(r\omega))\}r^{d-1}drd\omega$$
.

where $H_1(x,t,r\omega) = f_1(x,t,r\omega) + f(\Phi_{tx}(r\omega))\Theta_1(x,t,r\omega)$.

Using the estimates (1.8) and (1.27), we have readily, for some constant $C_5 = C_5(T)$,

 $(2.10) |H_1(x;t,r\omega)|$

$$\frac{t}{|Sup|} \nabla f + C_{\frac{Sup}{x \in M}} f \cdot \exp kr \left[rt + \left(C_1 t^2 / 2 \right) \right].$$

Using these estimates and remarking that $\chi(x)$ has compact support, there exists a constant $C_6 = C_6(T,\lambda,\chi)$ such that

$$(2.11) ||H_1(t,\cdot) - f(\cdot)|| \le C_6 t^{1/2} \sup_{z \in H} |\nabla f| + \sup_{z \in H} |f|].$$

Proof of (2.7). Choose another function $\varphi(y) \in C_0^{\infty}(M)$, $0 \le \varphi \le 1$ satisfying

$$\varphi(x) = \begin{cases} 1 & \text{if } d(y, supp \ f) \le 1 \\ 0 & \text{if } d(y, supp \ f) \ge 3/2 \end{cases}$$

Remarking $\varphi(y)f(y) = f(y)$, we have

(2.12)
$$H_2(t,x) = \int_M F_{\lambda}(t,x,y) f(y) d\mu_{\mathfrak{F}}(y)$$
,

where

$$F_{\lambda}(t,x,y) = (2\pi\lambda)^{-d/2} (1-\chi(x))\varphi(y)\rho(t,x,y) \exp\{-\lambda^{-1}S(t,x,y)\}$$
.

By the choice of $\chi(x)$ and $\varphi(x)$, we have $F_{\lambda}(t,x,y) = 0$ for $d(x,y) \le 1/2$. On the other hand, by the choice of T.

$$\sup_{\substack{x \in \mathbb{Z}^T \\ x,y \in M}} t^{d/2} \rho(t,x,y) \leq \sqrt{2} \quad \text{and} \quad \sup_{\substack{x \in \mathbb{Z}^T \\ x \geq 1/2}} \left[t^{-d/2} \exp(-X^2/2t) \right] \leq C(d) < \infty.$$

So, using (1.6) and (1.10), we get

$$F_{\lambda}(t,x,y) \leq C_{7}(1-\chi(x))\varphi(y)\exp(-d^{2}(x,y)) \quad \text{for } 0 < t < T \ ,$$

where C_7 is a positive constant, independent of $x,y \in M$ and 0 < t < T. Moreover, as $\lim_{t \to 0} |F_{\lambda}(t,x,y)| = 0$ for each $x,y \in M$, using Lebesgue's dominated convergence theorem and the argument at the end of the proof of Proposition 2.1, we get (2.7). q.e.d.

3. The convergence of the product H_i^{λ} in the operator norm

Take t>0 arbitrarily. Dividing the interval [0,t] into n-equal subintervals such that (t/n)<T, we define an operator $\widetilde{H}_n^{\lambda}(t)$ as $\widetilde{H}_n^{\lambda}(t)=H_{t/n}^{\lambda}\cdots H_{t/n}^{\lambda}$ (product of n-times).

Proposition 3.1. Assume that M and L satisfy (M), (L.I)-(L.V). Then, there exists a C^0 -semi-group $H^{\lambda}_t(L;\mu_g)$ $(t\geq 0)$ on $L^2(M,d\mu_g)$ such that, for any t>0,

$$(3.1) \quad ||H_t^{\lambda}(L;d\mu_{\pi}) - \overset{\sim}{H_n^{\lambda}}(t)|| \le (Ct^{3/2}n^{-1/2} + Ct^2n^{-1}) \cdot \exp C_t t ,$$

where C and C' are positive constants depending on T, independent of n.

Proof of this proposition is composed of several lemmas.

Lemma 3.2. The function $h^{\lambda}(t,x,y)$ satisfy the following:

(3.2)
$$(\lambda \partial_t - (\lambda^2/2)\Delta^{(x)})h^{\lambda}(t,x,y)$$

= $-(2\pi\lambda)^{-d/2}[(\lambda^2/2)\Delta^{(x)} - V(x)]\rho(t,x,y) \cdot \exp\{-\lambda^{-1}S(t,x,y)\}$,

(3.3)
$$(\lambda \partial_{\sigma} + (\lambda^{2}/2)\Delta^{(y)})h^{\lambda}(t-\sigma,x,y)$$

$$= (2\pi\lambda)^{-d/2}[(\lambda^{2}/2)\Delta^{(y)} - V(y)]\rho(t-\sigma,x,y) \cdot \exp\{-\lambda^{-1}S(t-\sigma,x,y)\} .$$

Proof. By the formula of $\Delta^{(y)}$ acting on the product of functions, we have

(3.4)
$$\Delta^{(y)}h^{\lambda}(t,x,y)$$

$$= (2\pi\lambda)^{-d/2}[(\Delta^{(y)}\rho(t,x,y))\exp\{-\lambda^{-1}S(t,x,y)\}\}$$

$$-2\lambda^{-1}\langle\nabla_{y}\rho(t,x,y),\nabla_{y}S(t,x,y)\rangle\exp\{-\lambda^{-1}S(t,x,y)\}\}$$

$$+\rho(t,x,y)\Delta^{(y)}\exp\{-\lambda^{-1}S(t,x,y)\}].$$

Combining $(1.23)_{H,I}$ and $(1.26)_C$, we have easily (3.2). Analogously, we have (3.3). q.e.d.

For $f \in C_0^{\infty}(M)$ and t,s>0, λ >0, we may write

(3.5)
$$(H_{t+s}^{\lambda}f)(x) - (H_{t}^{\lambda}H_{s}^{\lambda}f)(x)$$

$$= \int_{U} \widetilde{h}_{\lambda}(t,s;x,y)f(y)d\mu_{g}(y) .$$

where

$$(3.6) \quad \widetilde{h}_{\lambda}(t,s;x,y) = h^{\lambda}(t+s;x,y) - \int_{M} h^{\lambda}(t,x,z) h^{\lambda}(s,z,y) d\mu_{g}(z) .$$

Since $\widetilde{h}^{\lambda}(t,s;x,y)$ has a singularity at t=0, we define, for any positive ε ,

(3.7)
$$\widetilde{h}_{\lambda}^{\varepsilon}(t,s;x,y)$$

$$= \int_{r}^{s} [(d/d\sigma) \int_{\mathcal{U}} h^{\lambda}(t+s-\sigma,x,z) h^{\lambda}(\sigma,z,y) d\mu_{g}(z)] d\sigma$$

which satisfies $\lim_{\varepsilon \to +0} \widetilde{h}_{\lambda}^{\varepsilon}(t,s;x,y) = \widetilde{h}_{\lambda}(t,s;x,y)$ for any (t,s,x,y), t>s. Exchanging $d/d\sigma$ and the integration, we have using Lemma 3.2 and integration by parts,

(3.8)
$$\lambda \widetilde{h}_{\lambda}^{\varepsilon}(t,s;x,y)$$

$$= -(\lambda^{2}/2)(2\pi\lambda)^{-d} \int_{\varepsilon}^{s} \{(t+s-\sigma)^{-d/2}\sigma^{-d/2}$$

$$\int_{M} [\widetilde{\rho}(\sigma,z,y)\Delta^{(z)}\widetilde{\rho}(t+s-\sigma,x,z) - \widetilde{\rho}(t+s-\sigma,x,z)\Delta^{(z)}\widetilde{\rho}(\sigma,z,y)]$$

$$\times \exp\{-\lambda^{-1}(S\langle t+s-\sigma,x,z\rangle + S(\sigma,z,y))\} d\mu_{\sigma}(z)\} d\sigma,$$

where we put $\widetilde{\rho}(t,x,y)=t^{d/2}\rho(t,x,y)$.

Lemma 3.3. Assume that (M), (L.I)-(L.V) hold. For T>0 defined in Lemma 1.14, there exist positive constants C_8 and C_9 depending on λ and T such that

$$(3.9) \lim_{\varepsilon \to 0} \int_{M} \lambda |\widetilde{h}_{\lambda}^{\varepsilon}(t,s;x,y)| d\mu_{g}(y) \leq C_{8}\{(t+s)^{3/2} - t^{3/2} + s^{3/2}\} + C_{9}(t+s)s ,$$

$$\lim_{\varepsilon \to 0} \int_{M} \lambda |\widetilde{h}_{\lambda}^{\varepsilon}(t,s;x,y)| d\mu_{g}(x) \leq C_{8}\{(t+s)^{3/2} - t^{3/2} + s^{3/2}\} + C_{9}(t+s)s .$$

Proof. Remark at first that

$$(3.10) \quad \widetilde{\rho}(\sigma,z,y)\Delta^{(z)}\widetilde{\rho}(t+s-\sigma,x,z) - \widetilde{\rho}(t+s-\sigma,x,z)\Delta^{(z)}\widetilde{\rho}(\sigma,z,y)$$

$$= \widetilde{\rho}(\sigma,z,y)[\Delta^{(z)}\widetilde{\rho}(t+s-\sigma,x,z) - \Delta^{(z)}\widetilde{\rho}(t+s-\sigma,x,z)]_{|z=x}]$$

$$+ [\widetilde{\rho}(\sigma,z,y)\Delta^{(z)}\widetilde{\rho}(t+s-\sigma,x,z)]_{|z=x} - \widetilde{\rho}(t+s-\sigma,x,z)\Delta^{(z)}\widetilde{\rho}(\sigma,z,y)]_{|z=y}]$$

$$+ \widetilde{\rho}(t+s-\sigma,x,z)[\Delta^{(z)}\widetilde{\rho}(\sigma,z,y)]_{|z=y} - \Delta^{(z)}\widetilde{\rho}(\sigma,z,y)].$$

Take the geodesic $\gamma_g(\tau)$ with $\gamma_g(0)=x, \gamma_g(\tau)=z$ where $\tau=d(x,z)$. Then, we have , using (1.28),

$$(3.11) \quad |\Delta^{(z)}\widetilde{\rho}(t+s-\sigma,x,z) - \Delta^{(z)}\widetilde{\rho}(t+s-\sigma,x,z)|_{|z=x}|$$

$$\leq \int_0^r |\nabla_z \Delta^{(z)}\widetilde{\rho}(t+s-\sigma,x,\gamma_g(\tau))| d\tau$$

$$\leq C_8 d(x,z) \exp \widetilde{k} d(x,z) ,$$

for any $x \in M$.

where \mathcal{C}_{6} and \widetilde{k} are positive constants independent of $x,z\in M$. Analogously

$$(3.12) \quad |\Delta^{(z)}\widetilde{\rho}(\sigma,z,y) - \Delta^{(z)}\widetilde{\rho}(\sigma,z,y)|_{z=y}| \leq C_{\theta}d(y,z)\exp\widetilde{k}d(y,z).$$

In order to estimate the second term of the right-hand side of (3.10), we use Lemma 3.4. $\Delta^{(z)}\widetilde{\rho}(t,x,z)|_{z=x} = R(x)/6 + tO(t,x)$,

where the function |O(t,x)| is bounded from above $C_9>0$ for any 0< t < T and

Retaining the proof of above lemma later, we have, by Assumption (L.III).

$$(3.13) \quad |\widetilde{\rho}(\sigma, z, y) \Delta^{(z)} \widetilde{\rho}(t + s - \sigma, x, z)|_{z = x} - \widetilde{\rho}(t + s - \sigma, x, z) \Delta^{(z)} \widetilde{\rho}(\sigma, z, y)|_{z = y}|$$

$$= |\{(\widetilde{\rho}(\sigma, z, y) - 1)R(x)/6\} + \{(R(x) - R(y))/6\}$$

$$+ \{(1 - \widetilde{\rho}(t + s - \sigma, x, z))R(y)/6\}$$

$$\begin{split} &+\{(t+s-\sigma)\widetilde{\rho}(\sigma,z,y)O(t+s-\sigma,x)-\sigma\widetilde{\rho}(t+s-\sigma,x,z)O(\sigma,y)\}|\\ \\ &\leq C_8[d(y,z)\exp\widetilde{k}d(y,z)+d(x,y)+d(x,z)\exp\widetilde{k}d(x,z)]+C_9(t+s)\ , \end{split}$$

where C_9 is a positive constant independent of $x \in M$.

Inserting these estimate in (3.8), we get

$$(3.14) \qquad \int_{\mathcal{U}} \lambda |\widetilde{h}_{\lambda}^{\varepsilon}(t,s,x,y)| d\mu_{q}(y) \leq (-\lambda^{2}/2) \int_{\varepsilon}^{s} [L_{1}(\sigma) + L_{2}(\sigma) + L_{3}(\sigma)] d\sigma ,$$

where

(3.15)
$$L_1(\sigma)$$

$$= C_8(2\pi\lambda(t+s-\sigma))^{-d/2}(2\pi\lambda\sigma)^{-d/2} \int_{M} \int_{M} [d(x,z) + d(x,z) \exp \widetilde{k}d(x,z)]$$

$$\times \exp \{-\lambda^{-1}(S(t+s-\sigma,x,z) + S(\sigma,z,y))\} d\mu_q(z) d\mu_q(y)$$

(3.16)
$$L_2(\sigma)$$

$$= C_8(2\pi\lambda(t+s-\sigma))^{-d/2}(2\pi\lambda\sigma)^{-d/2}\int_{\mathcal{U}}\int_{\mathcal{U}}[d(y,z)+d(y,z)\exp\widetilde{k}d(y,z)]$$

$$\times \exp\{-\lambda^{-1}(S(t+s-\sigma,x,z)+S(\sigma,z,y))\}d\mu_g(z)d\mu_g(y)$$

(3.17) $L_3(\sigma)$

and

$$= C_9(2\pi\lambda(t+s-\sigma))^{-d/2}(2\pi\lambda\sigma)^{-d/2}(t+s)$$

$$\times \int_M \int_M \exp{\{-\lambda^{-1}(S(t+s-\sigma,x,z)+S(\sigma,z,y))\}} d\mu_g(z) d\mu_g(y) \ .$$
 Using (1.8), we have

(3.18) $L_1(\sigma)$

$$\leq (2\pi\lambda(t+s-\sigma))^{-d/2}(2\pi\lambda\sigma)^{-d/2}\exp C_1(t+s)/\lambda$$

$$\times \int_{u}[d(x,z)+d(x,z)\exp \widetilde{k}d(x,z)]\exp (-d^2(x,z)/2\lambda(t+s-\sigma))$$

$$\times \{ \int_{M} \exp \left(-d^2(z,y)/2\lambda\sigma \right) \cdot d\mu_g(y) \} d\mu_g(z) \ .$$

Then, calculating the integral in $\{\cdots\}$, using the normal coordinate at z and then using the normal coordinate at x, we get readily

(3.19)
$$L_1(\sigma) \le C_8(t+s-\sigma)^{1/2}$$

for $0 < \sigma, t + s - \sigma < T$ with some constant C_{θ} depending on λ, T . Analogously, we have

(3.20)
$$L_2(\sigma) \le C_8 \sigma^{1/2}$$
.

Lastly,

$$(3.21) L_3(\sigma) \le C_9(t+s) .$$

Substituting these into (3.14), we get

$$(3.22) \quad \int_{\mathcal{U}} \lambda \, \big| \widetilde{h}^{\varepsilon}_{\lambda}(t,s,x,y) \, \big| \, d\mu_{\mathfrak{F}}(y) \leq C_{\theta}((t+s)^{3/2} - t^{3/2} + s^{3/2}) \, + \, C_{\theta}(t+s)s \quad .$$

Proof of Lemma 3.4. In order to calculate this, we take special bases in defining $\Theta(t,x,y)=t^{-d}\det_g(d\Phi_{t,x})_X$ for $Exp_xX=y$. That is, taking the normal coordinate (X^1,\ldots,X^d) at x, we have

(3.23)
$$\widetilde{\rho}(t,x,y) = \left[\det(A_i^a(t,x)) / \sqrt{\det(g_{ij}(X))} \right]^{1/2}$$

where $A_i^a(t,X)$ is the component of $(d\Phi_{t,x})_X$ with respect to (X^1,\ldots,X^d) . As $A_i^a(0,X)=\delta_i^a$, putting the remainder term of the Taylor expansion of $\det(A_i^a(t,X))$ at t=0 as O(t,x,X), we get

$$(3.24) \quad \Delta^{(z)} \widetilde{\rho}(t,x,y) = \Delta^{(X)} (\det(g_{ij}(X)))^{-1/2} + tO(t,x,X) \ ,$$

On the other hand,

(3.25)
$$\Delta^{(X)}(\det(g_{ij}(X)))^{-1/2}|_{X=0} = -R(x)/6.$$

(See p. 593 of Sakai [13] & p. 97 of Berger et al [2].) Also, as $\tilde{\rho}(t,x,y)=t^{d/2}\rho(t,x,y), \text{ the boundedness of } O(t,x)=O(t,x,X)_{|X=0} \text{ is easily obtained by Lemma 1.14. q.e.d.}$

For fixed t,s and $x \in M$, we have

$$(3.26) \qquad |\widetilde{h}_{\lambda}^{\varepsilon}(t,s,x,y)|$$

$$\leq \int_{0}^{s} \{(2\pi(t+s-\sigma))^{-d/2}(2\pi\sigma)^{-d/2}$$

$$\times \int_{\mathcal{U}} |\widetilde{\rho}(\sigma,z,y)\Delta^{(z)}\widetilde{\rho}(t+s-\sigma,x,z) - \widetilde{\rho}(t+s-\sigma,x,z)\Delta^{(z)}\widetilde{\rho}(\sigma,z,y)|$$

$$\times \exp\{-\lambda^{-1}(S(t+s-\sigma,x,z)+S(\sigma,z,y))\}\cdot d\mu_{g}(z)d\sigma.$$

By Fubini's theorem, we see that the right hand side of the above inequality is L^1 function with respect to y-variables. Thus, using Lebsgue's dominated convergence theorem and $\lim_{\epsilon \to 0} \widetilde{h}^{\epsilon}_{\lambda}(t,s,x,y) = \widetilde{h}_{\lambda}(t,s,x,y)$ a.e., we get

$$(3.27) \qquad \int_{\mathcal{U}} \lambda |\widetilde{h}_{\lambda}(t,s,x,y)| \, d\mu_g(y) \le C_8((t+s)^{3/2} - t^{3/2} + s^{3/2}) + C_9(t+s)s \ ,$$

because of Lemma 3.3. By the same argument, we have

(3.28)
$$\int_{\mathcal{U}} \lambda |\widetilde{h}_{\lambda}(t,s,x,y)| d\mu_g(y) \leq C_8((t+s)^{3/2} - t^{3/2} + s^{3/2}) + C_9(t+s)s$$
 So, by the same computation as in the proof of Proposition 2.1, we have, by putting $C = C_9$, $C' = C_9$,

Lemma 3.5. Under Assumptions (M) and (L.I)-(L.V), for any 0 < t, s, t + s < T and any $f \in L^2(M, d\mu_g)$, we have

$$(3.29) ||H_{t+s}^{\lambda}f - H_{t}^{\lambda}H_{s}^{\lambda}f|| \le [C((t+s)^{3/2} - t^{3/2} + s^{3/2}) + C'(t+s)s]||f||.$$

To prove Proposition 3.1, we prepare

Lemma 3.6. $\{\widetilde{H}_n^{\lambda}(t)\}_n$ forms a Cauchy sequence in $B(L^2(M,d\mu_g))$ in operator norm, uniformly on any finite interval, where $B(L^2(M,d\mu_g))$ denotes the space of bounded linear operators in $L^2(M,d\mu_g)$ with the operator norm. Moreover, its limit H_t^{λ} satisfies the estimate (3.1).

Proof. As we have, for $s \in [0, T]$,

$$H_s^{\lambda} - (H_{s/n}^{\lambda})^n = \sum_{i=0}^{n-2} [H_{(n-i)s/n}^{\lambda} - H_{(n-i-1)s/n}^{\lambda} \cdot H_{s/n}^{\lambda}] \cdot (H_{s/n}^{\lambda})^j$$
,

we get

$$(3.30) ||(H_s^{\lambda} - (H_{s/n}^{\lambda})^n)f|| \le \exp C_4 s \cdot [C(s^{3/2} + (n-1)(s/n)^{3/2}) + C's^2]||f||,$$

by (3.29) and (2.1). Using (3.30), we have

Therefore, we get

Thus, $\tilde{H}_n^{\lambda}(t) = (H_{t/n}^{\lambda})^n$ is a Cauchy sequence uniformly in t on any finite interval in the operator norm. Therefore, it converges to a limit H_t^{λ} . Letting m tends to ∞ in (3.32), we get (3.1). q.e.d.

Remark. Above proof is a slight modification of the proof of Theorem 5.3, p. 240 of Chorin et al [5]. This simplifies greatly the proof of Lemma 5.7, p. 79 of Fujiwara [8] which seems rather difficult to follow.

Now, we generalize Proposition 3.1 a little bit:

Proposition 3.7. Let us assume that M and L satisfy (M) and (L.I)-(L.IV). Take T>0 as in Lemma 1.14. Assume also that two subintervals

$$\Delta_1: 0 = t_0 < t_1 < \cdot \cdot \cdot < t_n = t, \delta(\Delta_1) = \max_j |t_j - t_{j-1}| ,$$

and

$$\Delta_2: 0=s_0 < s_1 < \cdot \cdot \cdot < s_m = t, \delta(\Delta_2) = \max_j |s_j - s_{j-1}| ,$$

are given as $\delta(\Delta_1)$ and $\delta(\Delta_2)$ are smaller than T.

Define $H(\Delta_1:t)=H_{t_n-t_{n-1}}^{\lambda}\cdot\cdot\cdot H_{t_1}^{\lambda}$, and $H(\Delta_2:t)=H_{s_m-s_{m-1}}^{\lambda}\cdot\cdot\cdot H_{s_1}^{\lambda}$. Then, we have

(3.33)
$$||H(\Delta_1:t) - H(\Delta_2:t)||$$

$$\leq \exp \, \mathcal{C}_4 t \cdot \left[\mathcal{C}t \left(\delta(\Delta_1)^{1/2} + \delta(\Delta_2)^{1/2} \right) + 2 t^{1/2} \delta(\Delta_1)^{1/2} \delta(\Delta_1)^{1/2} + \mathcal{C}t \left(\delta(\Delta_1) + \delta(\Delta_2) \right) \right] \; .$$

$$(3.34) ||H(\Delta_1:t) - H_t^{\lambda}|| \le t \cdot \exp C_4 t \cdot (C\delta(\Delta_1)^{1/2} + C'\delta(\Delta_1)).$$

Proof. Following the proof of Lemma 5.8, p. 81 of F [8], we get the result. By the above argument, we obtain (d) of Theorem in case of $\mu=\mu_{\mathcal{J}}$.

4. Computation of the infinitesimal generator of H_t^{λ}

Our object in this section is to prove:

Proposition 4.1. Assume (M) and (L). Then, for any $f \in C_0^{\infty}(M)$,

(4.1)
$$\lambda \partial_t (H_t^{\lambda} f)(x)|_{t=0} = \lambda^2 [\Delta_g / 2 - R(x) / 12] f(x) + V(x) f(x)$$
.

This follows from:

Lemma 4.2. Under same assumptions as above, we have

(i)
$$\partial_t (H_t^{\lambda} f)(x)|_{t=0} = \partial_t (H_t^{\lambda} f)(x)|_{t=0}$$
 for $f \in C_0^{\infty}(M)$.

(ii)
$$(H_t^{\lambda}f)(x) - f(x) = t(A^{\lambda}f)(x) + tG(t,\lambda,f)(x)$$
 for $f \in C_0^{\infty}(M)$,

and $\lim_{t\to 0} \|G(t,\lambda,f)\|=0$.

Proof. For each n, we have

$$(H_{\ell}^{\lambda}f)(x) - f(x) = (H_{\ell}^{\lambda}f)(x) - (\widetilde{H}_{n}^{\lambda}(t)f)(x) + \sum_{i=1}^{n} [(H_{i/n}^{\lambda})^{n-j}(H_{\ell/n}^{\lambda} - I)f](x) .$$

Dividing both sides of above by t, taking n sufficiently large and making t tend to 0, we get (i). Here we used the estimate in Proposition 3.1.

Proof of (ii). Combining $(1.23)_{H.I}$ and $(1.26)_C$ with the definition of $h^{\lambda}(t,x,y)$, we get readily

$$\begin{split} &\lambda \partial_t (H_t^{\lambda} f)(x) \\ &= \lambda (2\pi\lambda)^{-d/2} \int_{H} \left[\partial_t \rho(t, x, y) - \lambda^{-1} \rho(t, x, y) \partial_t S(t, x, y) \right] \\ &\qquad \times \exp\left\{ -\lambda^{-1} S(t, x, y) \right\} \cdot f(y) d\mu_g(y) \\ &= \left\{ H_t^{\lambda} \left[(\lambda^2/2) \Delta + V \right) f \right] \right\} (x) \\ &\qquad - (\lambda^2/2) (2\pi\lambda)^{-d/2} \int_{H} \Delta^{(y)} \rho(t, x, y) \exp\left\{ -\lambda^{-1} S(t, x, y) \right\} \cdot f(y) d\mu_g(y). \end{split}$$

Therefore, by Lemma 3.4,

$$\begin{split} &\lambda \partial_t \left(H_t^{\lambda} f \right)(x) \\ &- \lambda^2 (\Delta/2 - R(x)/12) f(x) - V(x) f(x) \\ &= \left[(H_t^{\lambda} - I)((\lambda^2/2)\Delta + V) f \right](x) \\ &- (\lambda^2/2)(2\pi\lambda t)^{-d/2} \int_{\mathcal{U}} (\Delta^{(y)} \rho(t, x, y) - R(x)/12) \\ &\times \exp\left\{ -\lambda^{-1} S(t, x, y) \right\} f(y) d\mu_g(y) \\ &= \widetilde{G}(t; \lambda, f)(x) \end{split}$$

Using Proposition 2.2, we have

$$||(H_t^{\lambda} - I)((\lambda^2/2)\Delta + V)f|| \rightarrow 0 \text{ for } f \in C_0^{\infty}(M).$$

Also, by Lemma 3.4 and similar computations as in proving Lemma 3.3, we get

$$\lim_{t\to 0} ||(2\pi\lambda t)^{-d/2} \int_{M} (\Delta^{(y)} \rho(t,\cdot,y) - R(\cdot)/12)$$

$$\begin{split} & \times \exp\{-\lambda^{-1}S(t,\cdot,y)\}f(y)d\mu_g(y)|| = 0, \text{ for } f \in C^\infty_{\mathfrak{o}}(M). \end{split}$$
 Remarking $(H_t^\lambda f)(x) - f(x) = \int_0^t \partial_{\sigma}(H_{\sigma}^\lambda f)(x)d\sigma$ and putting $G(t,\lambda,f)(x) = (1/t)\int_0^t \widetilde{G}(\sigma,\lambda,f)(x)d\sigma$, we obtain the desired result. q.e.d.

Now, we have proved (a)-(d) and (f) of Theorem for $\mu=\mu_g$. As corollaries of the arguments in proving parts of Theorem, we have

Corollary 4.3. There exists a distribution kernel $H^{\lambda}(L,\mu_g)(t,x,y)$ of $H^{\lambda}_t(L,\mu_g)$. That is, for any $f,h\in C^{\infty}_0(M)$, we have

(4.3)
$$(H_t^{\lambda}(L, \mu_{\overline{q}})f, h) = \langle H^{\lambda}(L, \mu_{\overline{q}})(t, x, y), h(x) \otimes f(y) \rangle$$

where < , > stands for the duality between $D(M \times M)$ and $D'(M \times M)$.

This follows by applying Schwartz' kernel theorem to the left-hand side of (4.3).

Proposition 4.4. Let M and \widetilde{M} be smooth manifolds diffeomorphic to each other. (We denote the diffeomorphism from \widetilde{M} onto M by Φ .) On M, there exists a Lagrangian L satisfying (L,I)-(L,V) also with (M). We induce the Lagrangian and the Riemannian metric on \widetilde{M} by $\widetilde{L}=\Phi^*L$ and $\widetilde{g}=\Phi^*g$, where Φ^* denotes the pull-back by Φ . Then, we have

- (4.4) $(\Phi^*)^{-1}H_t^{\lambda}(\widetilde{L};\mu_{\widetilde{g}})\Phi^* = H_t^{\lambda}(L;\mu_{\widetilde{g}})$. In other word,
- (4.4)' $\operatorname{H}^{\lambda}(\widetilde{L},\mu_{\widetilde{g}})(t,\Phi^{-1}(x),\Phi^{-1}(y)) = \operatorname{H}^{\lambda}(L,\mu_{g})(t,x,y)$ for $x,y\in M$.

 Proof. By the definition of $H^{\lambda}_{t}(L,\mu_{g})$, we have readily

 $(H_t^{\lambda}(L;\mu_g)f)(x)=[H_t^{\lambda}(\widetilde{L};\mu_{\widetilde{g}})(\Phi^*f)](\Phi^{-1}(x))\quad\text{for }x\in M,\ f\in C_0^\infty(M).$ Moreover, as (M,g) is isometric to $(\widetilde{M},\widetilde{g})$, we get the assertion. q.e.d.

Corollary 4.5. The differential operator $\mathbf{A}^{\lambda}(L;\mu_g)$ defines a self-adjoint operator in $L^2(M,d\mu_g)$ if M and L satisfy (M) and (L,I)-(L,Y). Moreover, we may define $\{U_{\tau}\}_{\tau \in \mathbf{R}}$ a C^0 -group of unitary operators on $L^2(M,d\mu_g)$ as

$$(4.5) U_{\tau}f = s - \lim_{\epsilon \to 0} H_{\epsilon + i\tau}f \text{for } f \in C_0^{\infty}(M).$$

Proof. By the symmetry in x and y of kernel $h^{\lambda}(t,x,y)$, $(H_{t}^{\lambda}(L;\mu_{g}))^{*} = H_{t}^{\lambda}(L;\mu_{g})$. This gives $\{H_{t}^{\lambda}(L;\mu_{g})\}^{*} = H_{t}^{\lambda}(L;\mu_{g})$ which asserts $(A^{\lambda}(L;\mu_{g}))^{*} = A^{\lambda}(L;\mu_{g})$. Moreover $A^{\lambda}(L;\mu_{g})$ is bounded from below, using Theorem 7.9.1 of Hille-Phillips [10], we have the desired assertion. q.e.d.

5. Proof of Theorem and its interpretation

We first remember the following definition.

Definition. (p.427 of A-M [1])

- (i) Two measures on M are said to be equivalent provided that each is absolutely continuous with respect to the other.
- (ii) A measure on M is called **natural** if it is equivalent to the Lebesgue measure in every coordinate chart of M.
- (iii) Consider the set of all pairs (f,μ) , where μ is a natural measure on M and $f \in L^2(M,d\mu)$. Two pairs (f,μ) and (g,ν) will be called **equivalent** provided that $f(d\mu/d\nu)^{1/2}=g$, where $d\mu/d\nu$ is the Radon-Nykodim derivative of μ w.r.t. ν . We denote the equivalence class of (f,μ) by $f\sqrt{d\mu}$.
- (iv) An equivalence class $f\sqrt{d\mu}$ is called a half-density on M and the set of all half-densities is regarded as sections of 1-dimensional vector bundle $\Lambda^{1/2}(M)$, called the half density bundle on M, which may be trivialized by choosing a natural measure μ on M.
- (v) We denote H(M) the intrinsic Hilbert space on M, by the set of all such equivalence class (f,μ) . As H(M) is trivialized by choosing a natural measure μ on M, so H(M) is isomorphic to $L^2(M,d\mu)$ by the isomorphism $U_{\mu}: f \in L^2(M,d\mu)$ $\to U_{\mu}f = f\sqrt{d\mu} \in H(M)$. So, $U_{\mu\nu}$ defined by (8) is represented by

$$(5.1) \quad U_{\mu\nu} = U_{\mu} U_{\nu}^{-1} \quad .$$

Moreover, $U_{\mu\nu}$ is obtained by the transition function of the half-density bundle $\Lambda^{1/2}(M)$.

Proof of Theorem. For $f \in C_0^{\infty}(M)$, we rewrite $H_t^{\lambda}(L;\mu)$ by (5.2) $(H_t^{\lambda}(L,\mu)f)(x)$

$$\begin{split} &= (2\pi\lambda)^{-d/2} \int_{M} [\det[-\partial_{x^{i}}\partial_{y^{2}}S(L)(t,x,y)]/\sqrt{g(x)}\sqrt{g(y)}]^{1/2} \\ &\times \exp{\{-\lambda^{-1}S(L)(t,x,y)\}}(\sqrt{g(x)}/\mu(x))^{1/2}(\sqrt{g(y)}/\mu(y))^{1/2}f(y)d\mu(y) \\ &= (\sqrt{g(x)}/\mu(x))^{1/2}(2\pi\lambda)^{-d/2} \int_{M} \rho(L;\mu_{g})(t,x,y) \\ &\times \exp{\{-\lambda^{-1}S(L)(t,x,y)\}}(\mu(y)/\sqrt{g(y)})^{1/2}f(y)d\mu_{g}(y) \\ &\text{As } ||f||_{\mu} = ||f(\cdot)(\mu(\cdot)/\sqrt{g(\cdot)})^{1/2}||_{\mu_{g}} \text{ for } f \in L^{2}(M,d\mu), \text{ we get} \\ &\qquad \qquad ||H_{l}^{\lambda}(L;\mu)f||_{\mu} = ||H_{l}^{\lambda}(L;\mu_{g})(f(\cdot)(\mu(\cdot)/\sqrt{g(\cdot)})^{1/2}||_{\mu_{g}}. \end{split}$$

So, the isomorphism $U_{\mu_g\mu}:L^2(M,d\mu){\to}L^2(M,d\mu_g)$ given by

$$(U_{\mu^g\mu}f)(x) = f(x)(\mu(x)/\sqrt{g(x)})^{1/2}$$
 for $f \in L^2(M,d\mu)$

leads us

$$(5.3) \quad H_t^\lambda(L;\mu)f = U_{\mu_g\mu}^{-1}H_t^\lambda(L;\mu_g)\,U_{\mu_g\mu} \quad .$$

Since
$$(H_{t}^{\lambda}{}_{n}(L;\mu))^{n} = U_{\mu_{g}\mu}^{-1}(H_{t}^{\lambda}{}_{n}(L;\mu_{g}))^{n}U_{\mu_{g}\mu}$$
, we get $H_{t}^{\lambda}(L;\mu) = U_{\mu_{g}\mu}^{-1}H_{t}^{\lambda}(L;\mu_{g})U_{\mu_{g}\mu}$.

The end of the proof of Theorem.

Remark 1. By putting $C_{t,x,y} = \{\gamma(\cdot) \in C([0,t] \to M) : \gamma(0) = y, \gamma(t) = x\}$, we propose to regard Feynman's expression (Feynman [7]).

(5.4)
$$\int_{C_{t,x,y}} \exp\{-\lambda^{-1} \int_0^t L(\gamma(\tau),\dot{\gamma}(\tau)) d\tau\} d_F(\gamma)$$

as it stands for the 'distribution kernel' of the operator $H_1^{\lambda}(L)$ on H(M) which is represented concretely by using the trivialization of the bundle $\Lambda^{1/2}(M)$. That is , for any natural measure μ on M, we define (5.4) as

$$(5.5) \quad \{ \int_{\mathcal{C}_{t,x,y}} \exp\{-\lambda^{-1} \int_0^t L(\gamma(\tau),\dot{\gamma}(\tau)) d\tau \} d_F(\gamma) \}_{\mu}$$

$$= H_t^{\lambda}(L;\mu)(t,x,y) |d\mu(x)|^{1/2} \otimes |d\mu(y)|^{1/2} ,$$

where $H_t^{\lambda}(L;\mu)(t,x,y)$ is the distribution kernel of the operator $H_t^{\lambda}(L;\mu)$ whose existence is assumed by Schwartz' kernel theorem.

In the separate paper [12], Maeda proves that $H_t^{\lambda}(L;\mu)(t,x,y)$ is a in fact smooth function on $M\times M$ for t>0.

Remark 2. As is already noticed, the term R(x)/12 in the expression (9) is necessary to consider the operators $H_i^{\lambda}(L)$ and $A^{\lambda}(L)$ in the intrinsic Hilbert space. And the choice of a natural measure seems to correspond to fix the measurement of the physical system described in the intrinsic Hilbert space.

But in any way, to answer completely why we consider the problem in L^2 scheme, it is necessary to put $\lambda=i\hbar$. (See, de Witt [6] concerning the term $R(\cdot)/12$).

6. We may produce any multiple of $R(\cdot)$ in the infinitesimal generator

In stead of the argument in the previous section, we may produce any multiple of $R(\cdot)$, if we change the order of our procedure and we content with the convergence of $\widetilde{H}_n^{\lambda}(t)$ only in the strong sense.

To make our point clear, we consider the case where V=0.

For any $\beta \in \mathbb{R}$, we define an operator $H_t^{\lambda}(\beta)$ as

$(6.1) \quad (H_t^{\lambda}(\beta)f)(x)$

 $=(2\pi\lambda t)^{-d/2}\int_{\mathcal{U}}\rho^0(x,y)^{\beta}\exp\left(-\lambda^{-1}S^0(t,x,y)\right)\cdot f(y)d\mu_g(y)\ ,$ for $f\in\mathcal{C}_0^{\bullet}(M)$, where $t^{d/2}\rho^0(t,x,y)$ is independent of t and simply denoted by $\rho^0(x,y)$. In this case, as we may put $\lambda=1$ without loss of generality, we denote $H_t^1(\beta)$ simply by $H_t(\beta)$. And we drop the supper index 0 above for notational simplicity.

Theorem 6.1. Under Assumptions (M),(L.I)-(L.IV), we have the following: Fix T>0 arbitrarily. For any $\beta \in \mathbb{R}$

(a) $H_1(\beta)$ defines a bounded linear operator in $L^2(M,d\mu_g)$ for 0 < t < T.

Moreover, there exists a constant C_{10} such that

(6.2)
$$||H_t(\beta)f|| \le \exp C_{10}t \cdot ||f||$$

for 0 < t < T and $f \in C_0^{\infty}(M)$.

(b)
$$\lim_{t\to 0} ||H_t(\beta)f - f|| = 0$$
 for $f \in L^2(M, d\mu_g)$

(c)
$$\partial_t (H_t(\beta)f)(x)|_{t=0} = [\Delta/2 - (1-(\beta/2))R(x)/6]f(x)$$

$$= (A_{\beta}f)(x)$$
 for $f \in C_{\mathfrak{g}}^{\infty}(M)$.

(d) There exists a limit $s - \lim_{n \to \infty} (H_{t/n}(\beta))^n f$, denoted by $H_t(\beta)f$ for each $f \in C_0^{\infty}(M)$. $\{H_t(\beta)\}_{t \geq 0}$ with $H_0(\beta) =$ the identity operator, forms a C^0 -semi

group in $L^2(M,d\mu_g)$ with the infinitesimal generator given in (c).

Remark. Comparing above theorem with Theorem, we remark that the order of statements is changed. And in proving (d), we use the fact that the Laplace-Beltrami operator Δ is self-adjoint in $L^2(M,d\mu_g)$ under our assumptions (This fact is proved in the previous sections but we need that fact in order to prove (d).)

Proof of (a),(b). In our case, $t^d \Theta^0(t,x,y)$ is independent of t and denoted simply by $\Theta(x,y)$. We may rewrite the operator $H_t(\beta)$ by using normal polar coordinate at x and $Exp_xX = \Phi_{t,x}(x)$ as

$$(6.1)' \quad (H_t(\beta)f)(x)$$

$$= (2\pi t)^{d/2} \int_0^\infty \int_{cd-l} \Theta(x, Exp_x r\omega)^{1-(\beta/2)} \exp\left(-d^2(x, Exp_x r\omega)/2t\right) r^{d-1} dr d\omega .$$

To prove the statements (a) and (b), we proceed analogously as proving Proposition 2.1 and 2.2. But for $\beta \geq 2$, we use the fact $\Theta(x,y) \geq 1$ for estimating $\Theta(x, Exp_x r \omega)^{1-(\beta/2)}$. (As V=0, we may take $\Theta(x,y) \geq 1$ in Proposition 1.10.)

Proof of (c). Take a function $\nu(x,y) \in C^{\infty}(M \times M)$, $0 \le \nu(x,y) \le 1$, satisfying

$$\nu(x,y) = \begin{cases} 1 & \text{if } d(x,y) \leq 1 \\ 0 & \text{if } d(x,y) \geq 3 \end{cases}$$

Define operators $H_1(t,\beta)$ and $H_2(t,\beta)$ as follows:

(6.3)
$$(H_1(t,\beta)f)(x) = (2\pi t)^{-d/2} \int_M \nu(x,y) \rho(x,y)^{\beta} \exp\left(-d^2(x,y)/2t\right) f(y) d\mu_{\mathfrak{g}}(y) ,$$

(6.4)
$$(H_2(t,\beta)f)(x) = (2\pi t)^{-d/2} \int_{M} (1-\nu(x,y))\rho(x,y)^{\beta} \exp(-d^2(x,y)/2t)f(y)d\mu_3(y)$$

Now, we claim the following:

(6.5)
$$(H_1(t,\beta)f)(x) = f(x) + t(A_{\beta}f)(x) + tG_1(t,f)(x)$$
 for $f \in C_0^{\infty}(M)$.

(6.6)
$$\lim_{t\to 0} ||G_1(t,f)(\cdot)|| = 0,$$

and

(6.7)
$$\lim_{t\to 0} ||t^{-1}(H_2(t,\beta))f(\cdot)|| = 0 .$$

By Taylor's expansion, we get

(6.8)
$$f(y) = f(x) + (\partial_{X^i} f)(x) X^i + 1/2 (\partial_{X^i} \partial_{X^j} f)(x) X^i X^j + F(x, X) ,$$
 where $y = Exp_x X$. $(\partial_{X^i} f)(x) = \partial_{X^i} f (Exp_x X)_{|_{x=0}}$, and

$$F(x,X) = (1/6) \int_0^1 [\partial_{X^i} \partial_{X^j} \partial_{X^k} f(Exp_x sX)] ds X^i X^j X^k.$$

Then, it is clear that $F(x,X)=\nu(x,Exp_xX)F(x,X)$ is a smooth function in x and X with compact support.

Analogously, we have

(6.9)
$$\Theta(x,y)^{1-(\beta/2)} = 1 - (1/6)(1-(\beta/2))R_{ij}(x)Y^{i}Y^{j} + \Theta_{\beta}(x,y)$$

= $1 + \Theta_{\beta}(x,y)$,

where

$$\theta_{\beta}(x,y) = \{1/6\} \int_0^1 \partial_{Y^i} \partial_{Y^j} \partial_{Y^k} \theta(x, Exp_x sY)^{1-(\beta/2)} ds Y^i Y^j Y^k.$$

By Assumption (L.IV), there exist constants \mathcal{C}_{11} and κ such that

(6.10)
$$|\theta_{\beta}(x,y)| \le C_{11} \exp \kappa |Y|$$
 for any $x \in M$ and any $Y \in T_x M$. Inserting (6.8) and (6.9) into (6.3), we get (6.5) by defining $G_1(t,f)$ as

(6.11)
$$tG_1(t,f)$$

$$= -f(x)(2\pi t)^{-d/2} \int_{\Gamma_x H} (1-\nu(x,y))[1+(1/6)(1-(\beta/2))R_{ij}(x)Y^iY^j] e^{-|Y|^2/2t} dY$$

$$+ (\partial_{Y^i} f)(x)(2\pi t)^{-d/2} \int_{\Gamma_x H} \nu(x,y)Y^i\Theta(x,y)^{1-(\beta/2)} e^{-|Y|^2/2t} dY$$

$$- (1/2)(\partial_{Y^i}\partial_{Y^j} f)(x)(2\pi t)^{-d/2} \int_{T_x H} [(1-\nu(x,y)] + \nu(x,y)\Theta_{\beta}(x,y)]Y^iY^j e^{-|Y|^2/2t} dY$$

$$+ (2\pi t)^{-d/2} \int_{T_x H} F(x,Y)\nu(x,Y)^{1-(\beta/2)} e^{-|Y|^2/2t} dY,$$
 where $[\nu(x,y) = \nu(x,Exp_xY)] e^{-|Y|^2/2t} dY,$

By (6.10) and the property of F(x,y), we have the estimate in (6.6) readily. The estimate (6.7) is a easy consequence of the introduction of $\nu(x,y)$.

Proof of (d). Under Assumptions (M),(L.I)-(L.IV), it is well-known that Δ is self-adjoint in $L^2(M,d\mu_g)$. So \mathbf{A}_{β} is also self-adjoint. Moreover as \mathbf{A}_{β} is bounded from below, \mathbf{A}_{β} generates a C^0 -semi group. This and the facts (a)-(c) guarantee us to apply the generalized Lax theorem to our case (cf. p. 214, Chorin et al [4]). So we proved our Theorem 6.1. q.e.d.

References

- J. Abraham & J.E. Marsden: Foundations of mechanics, 2nd ed, Benjamin, Massachusetts, 1978.
- [2] T. Aubin: Nonlinear analysis on manifolds. Monge-Ampere Equations, A series of comprehensive studies in mathematics, 252 Springer, 1982.
- [3] M. Berger, P. Gauduchon & E. Mazet: Le spectre d'une variete Riemannienne, Lecture Notes in Math. 140. Springer, Berlin, 1966.
- [4] J. Cheeger & D.G. Ebin: Comparison theorems in Riemannian geometry, Amsterdam, North-Holland, 1975.
- [5] A.J. Chorin, T.J.R. Hughes, M.F. McCraken & J.E. Marsden: Product formulas and numerical algorithms, Comm. Pure and Appl. Math. 31 (1978) 205-256.
- [6] B.S. de Witt: Dynamical theory in curved spaces, I, A review of the classical and quantum action principles, Rev. Mod. Phys. 29 (1957) 377-397.
- [7] R.P. Feynman: Space time approach to non-relativistic quantum mechanics, Rev. Mod. Phys. 20 (1948) 367-387.
- [8] D.Fujiwara: A construction of the fundamental solution for the Schrodinger equation, J. d'Anal. Math. 35 (1979) 41-56.
- [9] D. Fujiwara: Remarks on convergence of the Feynman path integrals, Duke Math. J. 47 (1980) 559-600.
- [10] E. Hille & R.S. Phillips: Functional analysis and semi-groups, A.M.S. Providence, 1957..
- [11] A. Inoue & Y. Maeda: On integral transformations associated with a certain Riemannian metric, Proc. Japan Acad. A 58 (1982) 281-284.
- [12] Y. Maeda: Pointwise convergence of the product integral for a certain integral transformation associated with a Riemannian metric, geometric construction of the fundamental solution of a certain parabolic system in

non-compact manifold, to appear in Kodai Math. J.

- [13] J. Milnor: Morse theory, Annals of Math Studies, Princeton Univ. Press, 1963.
- [14] T. Sakai: On eigenvalues of Laplacian and curvature of Riemannian manifold, Tohoku Math. J. 23 (1971) 589-603.